Duplicates Rate vs hit Pileup rate vs hit

= Tyt Tyt 0.0% T T T T T T b=
[ : L S  RERET IR [
osf 0.008f osf
[ 0.007F [
0.6k 0.006f- o6f
: 0.005F- [
| SR Ll 0.004F- o4l
T :
AU U SRS SUUE O 0.002F 02
: 0.001 X L

aaalaaag Lw-o—w N ldHNhlll!IIIIE....!.... Y. |||I||||I||||||||||||||!|lll!llll

BT 1 H -—--

09 15 2025 303540 0955 15153025 30 35 40

—— DQM_TT__mkFit-DQM_
[Fakeraevsid —— DQM_TT__mKFitRETEST-DQM_

0.002]
0.00%

i 0.0%
: : 0.009F

08 0.008f
S 0.007F

Y I S beeeees 0.006F-
[ : : : : 0.005F
0 - eeeedeee T e 0.004F-
T

v i
£ :
095 5 10 15 20 25 095 5 10 15 20 25 09% 5 10 15 20 25

Fake rate vs layer [ Duplicates Rate vs pixel layer | Pileup rate vs layer

08~ oo 0.0k : oo 1
07 0.009F
0.008
0. 3
0.007
0.5 0.006
04 0.005F
03 0.004
0.2
0.002
0.3 0.001
140 140 :
1 1 2
095 %91 2 3 4 5 6 7 8 CTT 2 3 4 5 6 7 8

Fake rate vs 3D layer Duplicates Rate vs layer Pileup rate vs 3D layer
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